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MID TERM EXAMINATION
CLASS : XII
SUBJECT : BIOLOGY

TIME : 3 HRS. M.M. : 70

General Instructions :

L

o

There are a total of 26 questions and five sections in the question paper. All
questions are compulsory.

Section-A contains Question Nos. 1 to 5, very short answer type questions of

one mark each.

Section-B contains Question Nos. 6 to 10 short questions type I of two marks
each. '

Section-C contains Question Nos. 11 to 22, short answer type II questions of
three marks each.

Section-D contains Question No. 23, value based question of four marks.
Section-FE contains Question Nos. 24 to 26, long answer tvpe questions of five

marks each.

There is no overall choice in the question paper. However, an internal choice
1s provided in one question of two marks, one question of three marks and all
the questions of five marks. An examinee 15 to attempt any one of the questions
out of two given in the question paper with same question number.
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SECTION-A
gus-&h

/ Name the parts of an angiosperm ﬂower in which development of male and

female gametophyte take place. 1
Srgqarst g9 F 3T AN & AW Fary o gy 9w gy
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/® What are Pleiotropic genes? 1
wiaeifes 9 w22
/ Name the part ‘A’ and ‘B’ of the transcription unit given below : 1
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e (% Mention the source organism of the gene cry I AC and its target pest.

@ |

®E SHE ITH ® HG S 9 THF AV UWSF FT AW FarEu|
What is Elution? ‘ 1
& (3eE) w2
SECTION-B
TUs-g

What is the chemical nature of Biogas? Name an organism which is known to
be employed in biogas. 2

aErE ® TEEtE yEfa Fo8? aEiE § q e # AW aaE

Is Marchantia monocious or diocious? Where are the sex organs borne in this
plant? ! 2

OR

Name the unit of vegetative propagation in water hyacinth. Explain giving
reasons, why it has become the most invasic aquatic weed?

Ak g SuAfemaE & @1 uwfamad? ™ W A dfw o wel d9 el
#2

Fgan
JagEdt § FAF YaHT H1 THE FT AW GA@EU AT TEH AGHHEE AT
TR F 27 wo e gEEEn)
Removal of gonads cannot be considered as contraceptive option. Why? 2

dfes &M 1 gem uw wHfRyE gfEw w9 w S gEdn geEEul

What is Withdrawal Syndrome? List any two symptoms it is characterised
by. 2

Taa favgm #1 22 TWe < @ gdrEu)

. Why is DNA considered a better hereditary material than RNA?

TLUAT, & ARTAY, HI a0 °§ TF T AANS 9&d =& 7F1 &
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SECTION-C

Q|ues-1
.Al. Explain the role of the following in increasing the soil fertility and crop
production :
(a) Leguminous plants (b) ¥ Cynobacteria (c) Mycorrhizae.

3
Waﬂ_mmamwﬁmﬁﬁﬁm%uﬁm?m:

(%) welgr Uy (1) wrEAEEE (W) wFaFHqA|

\/é How do the following contraceptives act to prevent unwanted pregnancy in
human female?

(@ IUD’s ()  Saheli. 3
nfeeneti o frm ndfys sER duYRe w1 9 TEd 22
(1) E.FEL (9) gedl

. Why are thalassemia and haemophilia categorised as Mendelian disorders?
Write the symptoms of these diseases.

OR

V4 colourblind man, marri woman with normal vision whose father was
colourblind. Work out a cross to show the genotype of the couple and their
respective son. : 3

derefifir @ difwte F A=fer fawn # avit § A @ TR W
femfal & @& SaRul

HIgar

TF U qHY UF UH G Afeen @ WS &l € fome foa auiy
A TF HE H GEEd § W WS F g T YA $ ARy ffEmu)

\IA./Explain the process of sewage treatment before it can be discharged into natural
waterbodies. Why is this treatment essential? 3

fedl wikfas Jawa ¥ aifed 7 & A 9 @« fFu §F @@ SR
fafy 1 guzEU) 98 ITER F ATEF ©7
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15. Draw a diagram of the mature embryo sac of an angiosperm and label the
il <

following parts in it :

(a)  Filiform apparatus  (b)  Synergids (c) Central cell
(d  Egg cell (e)  Polar nuclei ® Antipodal cell
3
Agadisl # TH UNE YU &1 fod a9 gU A 9 &t ewsy
(%) fqo-%rcm‘ IYHTUT (@) TERSS (1)  HEF HIIERT
() gaF FHiRTER (¥) WageFat (9) UIUEH i

16<"A person is born with a hereditary disease, suggest the possible corrective
method for it. Illustrate by giving a specific example. 3

wF wf| TE aEne faudl & WY 99 e @ s fafre seww 3|
TU 39 fouilt &t 3% & w1 gwifaa fafy gamsu

\@Mention the property of plant cells that has helped them to grow into a new
plant in invitro condition. Explain the advantage of micropropagation. 3

Y FIVTHT F T AL HI GAEC A SAES] a€en ® 3@ A 9Y § I
4 Heg H €1 GEH YERU & Hew SHEAR

. Aman with blood group O and his wife with blood group AB claim a child with
blood group AB as their son. With Punnett square justify their statement. 3

s fome @ TE O qen SuH! uelt fowH WA E ABR, TH U av
W A A1 FIG € TG W UHE AB 2| YA ThIE H USE ¥ FEHAEU

‘/ Convergent evolution and divergent evolution are the two concepts explaining
organic evolution. Explain each one with the help of an example. 3

st fawm 9 srqurd fawm, S9 fawm™m ®1 =mEq FH F1 8 STFYROMT
21 Y I TH S0 HI WS 9 GHARU

S L
0,#Who proposed chromosal theory of inheritance? Point out any two similarities

" in the behaviour of chromosomes and genes. 3
TSl & avmta & fagia feee gfawfea fFan? sl @ S % SeRR
¥ g FHHEAC SR
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What is Ti plasmid? Name the organism where it is found. How does it help in
genetic engineering? 3

A wivwe ¥ 2?2 qe few Sta § wmn 9 2?7 9 aEine
afeitt (geifafan) 4 ffg vor wems 22

A person has been diagnosed to be HIV :

(a) Name the test which the person has undergone. £/ tA

(b)" Write the full name of pathogen involved.

(¢)  Which particular cells of this person are likely to get destroyed? 3

% HFfed HIV (TE.EAL) & afgd 9= 7 2

() 39 q&or &1 T Fane w8 e &1 e w7

(@) wafua fawmy w1 W e fafem

(W) 3@ =afq 1 = 'R g fafire Fifywet 1 AW 9y

SECTION-D
g us-vu

: /2( Inspector Ram Singh could find only few hair strand at the crime scene. He

want to proceed for DNA finger printing but the amount of DNA is very less.
Answer the following questions based on the above information :

@ In your opinion what could be the solution te this problem?

(b)  Write the basic steps of this technique.

(c) What values are exhibited by him? 4
TFR [ foe & Wy HT WE ¥ FJ 9@ YW T TE SLTALG
ATeAOTd UfHT FT AEAl € AfeT SLUAT F1 UGN 9gd w9 21 S9UEd
T $ AR W = gy & I e

() @ fo9r ¥ @ 9HE &T GHIYH F9 § GEdl 2
(7)) 39 9fed & &g = fafeu)
(@) 3HS 3 &= gedl & wefefa fea mn 22
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SECTION-E
Q us-&
Describe the various steps of Griffith’s experiment that led to the conclusion
of “Transforming Principle’.

How did the chemical nature of the ‘Transforming Principle’ get
established? 5

, OR
Explain the procéss of DNA replication with the help of schematic diagram.

In which phase of cell cycle does replication occur in Eukaryotes? What
would happen if cell division is not followed after DNA replication.

fufey & 9o & 39 wOn w1 e vy g srgwriEn fagta
gfaurfed & |11
e fagia #1 toEle ywma 9 fag €2
aregar
gluan yfaskfa wfwa +t wfes gasmu

JFHRATfCH FHITTRT H FHIVRT 9% & [6HE Faeen ¥ SLUAT Ffagfa
gt 22 F|1 ' AR SluAn wfawfa ® W sy fawse T w2

How does RNA interference help in developing resistance in tobacco
plant against nemotode infection?

Why is bacterium Thermus aquaticus employed in r-DNA technology?
Explain. ; 5

OR
What is GEAC and what are its objective?
Define biopiracy.

Name the enzyme that used for isolation of DNA from bacterial cell in
r-DNA technology. '
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®1 3w fwan s 22

When and how does placenta develop in human female?
How is placenta connected to the embryo?
Placenta acts as an endocrine gland. Explain. 5

OR

,‘/Why are angiosperm anthers called dithecous? Describe the enlarge view of its

microsporangium showing different wall layers.

()
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